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W674-R480 8 angol 17 19 40 36 90%
R728-E660 8 angol 5 11 40 16 40%
N213-B766 8 angol 7 15 40 22 55%
W256-T237 8 angol 10 15 40 25 62%
W811-R531 8 angol 20 20 40 40 100%
C318-v463 8 angol 0 0 40 0 n.a.
L124-0239 8 angol 6 9 40 15 37%
L931-B666 8 angol 11 10 40 21 52%
G441-A536 8 angol 13 17 40 30 75%
A145-1585 8 angol 16 18 40 34 85%
V666-T374 8 angol 7 12 40 19 47%
X924-T582 8 angol 8 12 40 20 50%
P822-E621 8 angol 7 15 40 22 55%
U995-H524 8 angol 5 10 40 15 37%
K924-N972 8 angol 6 11 40 17 42%
H325-M393 8 angol 16 18 40 34 85%
W949-L880 8 angol 13 15 40 28 70%
R124-L776 8 angol 16 13 40 29 72%
D834-T922 8 angol 18 14 40 32 80%
Q423-K161 8 angol 7 12 40 19 47%
F245-E564 8 angol 7 8 40 15 37%
F289-S865 8 angol 7 12 40 19 47%
B146-H437 8 angol n.a. n.a. 0 0 n.a.
B863-5662 8 angol 5 10 40 15 37%
T882-G712 8 angol 17 20 40 37 92%
B591-U967 8 angol 9 11 40 20 50%
K793-R937 8 angol 15 17 40 32 80%
L395-V844 8 angol 19 16 40 35 87%
H425-K473 8 angol 14 14 40 28 70%
P167-B952 8 angol 18 19 40 37 92%
B345-H748 8 angol 10 16 40 26 65%
C136-N499 8 angol 19 20 40 39 97%
$197-V569 8 angol 17 18 40 35 87%
N196-B818 8 angol 6 9 40 15 37%
0231-R136 8 angol 18 19 40 37 92%
L516-L547 8 angol 0 0 40 0 n.a.
X281-A882 8 angol 16 18 40 34 85%
Q678-E940 8 angol 19 19 40 38 95%
A214-)919 8 angol 0 0 40 0 n.a.
D741-K189 8 angol 9 10 40 19 47%
E193-M653 8 angol 0 0 40 0 n.a.
S441-R374 8 angol 2 3 40 5 12%
Q984-B275 8 angol 18 20 40 38 95%
L516-V814 8 angol 18 16 40 34 85%
0134-V998 8 angol 20 19 40 39 97%




0568-5897
$249-V772
D542-)321

B192-U827

J379-F289
R489-L259
C749-B540

8 angol 15 14 40 29 72%
8 angol 15 13 40 28 70%
8 angol 14 20 40 34 85%
8 angol 4 10 40 14 35%
8 angol 10 7 40 17 42%
8 angol 19 20 40 39 97%
8 angol 11 7 40 18 45%




